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Higher Level Factorising

SUM & DIFFERENCE OF TWO CUBES

Difference of 2 Cubes: x3— )3 = (x—y) (x* + xy +)?)

Sum of 2 Cubes X+ yP= (x+y) (X —xy + V)
Exercise H:
(1) x+1 (2) 1—x° (3) y-8
(4 8-, (5) +1 (6) +27
(7) $-125 (8) 83 +27 (9) 1252 -8
(10)  64m*—27 (11) 842+ 1252 (12)  64a® + 8

Exercise I: (mixtures)

(1)  4ab*- 12a6° (2)  7Te@+ox+2 (3)
(4)  3x-9x (5)  5x(2x+3)+4 (2x+3) (6)
(7) 2x2+9x -5 (8) 4x2-9 (9)
(10)  8x-2x—15 (11)  15x-25x (12)

Exercise J: (more Grouping)

(1) X% +5x + 3xy + 15y (2) 6x%+ 15ab— 10bx — 9ax (3)
(4) a’h? - b + be - a’c (5) sa®*+ac—a—10ab—2bc+2b (6)

Exercise K: (harder mixtures)

1) »-9° (2)  xo—p° (3)
() a*-21a-100 (5)  14b2+3b-2 (6)
(1) 42-3p+1 (8) 182-9y+1

Exercise L: (harder mixtures)
(1) x2—9x (2) 4x2 — 100x (3)
(8) y3—2y? (5) 2x% + 10x — 28 (6)
(7) Oy* + 12y°x? + 4x*

x2-3x—18
x2- 121
3ab —8c +2b— 12ac

2x2+3x +1

2x2 — Sxy + 4kx — 10ky
ax—bx—ay+byt+ta-»b

6x2+x-2

Y+ 22+ 1

a + 3ac - 2ab — 6bc

X2=Xy—x+y



Exercise M: (harder dots)

(1) 9 —(a-b)? (2) 25 — (x — 5)? (3) 16x2 — (a + b)?
(4) (2x+y)?-25 (5) (5a + c)>—-100 (6) (4a + b)> — (a + b)?
(7) (3a—-2b)*-(2a-3by> (8) (4a-yY—(a-y)? 1 1
o 3,3
x° 4y

PERFECT SQUARES

(x+yP=x*+2y+y
=yl =x -2y +y

Exercise N: (DOTs & CF)
(1) -y +ax—ay (2) x*-y*—3x-3y (3) 4x2—9y? + 2x +3y
(4) X2 —a*+8a—8x (5) 16y — 9x* — 4y — 3x

Exercise O: (P.S & DOTS)
(1) P+2p+y—a? (2 Ar2ap+y-ad (3) a-2ab+p -

(4) b’ —2ab +a? - 9)”

Exercise P: (P.S & CF)

(1) X2+ 2xy +y? +Tx +Ty (2) 9a’>—6ay+y’—6a+2y  (3) 4a® + 4ab + b2 + 6a + 3b
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